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3 228,000
= 50,000
Al 2,048,010
90 WRE 2 AFH IZ(HABS/YGHAE - +T) 526,010 416,610 109,400
3 228,000
= 50,000
Al 248,010
o 2 2T 5,890 5,890 0
o= 2 2T 5,890 5,890 0
201 Yereg| 1,500 1,500 0
01 At 2r2ly| 1,500 1,500 0
osragt| 1,500,000 1,500
202 01t 1,890 1,890 0
01 2Uioib| 1,890 1,890 0
CRTIEF T 1,890,00024 1,890
206 2| 2,500 2,500 0
01 HEb| 2,500 2,500 0
O+TAANE Moy P 1,500,000 1,500
ORFYA SHAIY 2 1,000,000 1,000
DS A+E AL 520, 120 410,720 109,400
3 228,000
= 50,000
Al 242,120
WEPSINPET] 145,120 110,720 34,400
201 LByl 12,120 12,120 0
01 Attt 12,120 12,120 0
GRS =1 12, 120,0002 12,120
206 T2 8,000 8,000 0
01 HEb| 8,000 8,000 0
ODISHAE AS%HE 7Y 3,000,000 3,000
ODIZM4E ASI| BETY 5,000,008 5,000
401 Al&HIL 20| 125,000 90,600 34,400
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SESAMBELNY 225,000 220,000 5,000
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01 A& 223,380 218,416 4,964
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LRSS EAE NS 100,000 80,000 20,000
= 70,000
Al 30,000
401 AlSHIL2OHY] 100,000 80,000 20,000
= 70,000
Al 30,000
01 A& 99, 100 79,280 19,820
OATRE +TAE HEALY 99, 100,000 99, 100
= 69,370
Al 29,730
03 Al&Z =0 900 720 180
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01 A& 49,460 0 49,460
O%4H ARAL &X 49,460,000% 49,460
= 49,460
03 Al& =i 540 0 540
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VESIENE 1,800,000 1,800,000 0
NAZSEYSH NE2 1,800,000 1,800,000 0
404 BIIAR=ZHES 1,800,000 1,800,000 0
01 BIILSLEIHRN2HES 1,800,000 1,800,000 0
ON4+ESE3H N=NEZ  1,800,000,0009 1,800,000
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